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REVIEW: Exponential and Logarlthmlc Expresswns

Show all work on a separate sheet of paper! NO CALCULATORS"'

Rewrite the logarithmic equations in exponential form.

1. log,125=3 1 /2 |3 log,81=4 |4 log,l=0 1 2
2. log,2=— < 3 5. log,—=-3 572 —
5°=125 2=3 0 =1 21-9 50° = | B3
'_§implify the expressions.
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- X 5 - [
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Evaluate the expressions.
18. 812 19. log, 64 20. log,+3 | 21, log—.
9 /2 1000 -3

. 2/3 2 25, 1
22. (-27) 23, 1og21 5 24, Ine ; 0g100,000
] 3 5
26. logy, 8 27. log,1 29. lo S
B100 7500 -7

1
28. 10g27§ -2/%

Expand the expressions.

1o e

30. log(8x) ,Og gﬂogx

31. log, 2%y

2. 15 % ({OQSHO(JKHO%

0 PR 2 7
33. log, (xy.) 7 9"10933

34. In
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Condense the expressions. 49 \

far

36. 210g37—log3 \()q,,\( X J

J

39, —Iogz(x+5) -2log, x +log, y
/|)(1—< \

40. l1ogx log4 | lq

37. log3-log4- log7\0¢’z§f] 38. Inx-Iny+Inz+2In3=|p
(j*___~ 41. log, 4+2(log, x—log, 5)
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Find the mverse ﬂ '(x), of each functlon

) 109,(4+ &)

-

42, f(x)=(x-1? ]:rr,\J

43. f(x)=2x" +3g\”7’ a4, f(x)=x - 2()<,L2)

\! 1

45, f(x) =In(x-2)+1 @%'7:{

46. f(x) =log,(7x)-2=_y~
T /

2

47. f(x) =

log(3x + 2) ]OX

I““

48, f(x)=5"+2
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Arithmetic and Geometric Sequences

Worksheet
Arithmetic Sequence - is a sequence of terms Geometric Sequence - is a sequence of terms
that have a common ( J ',' Q.E\—[‘-".[ gnt @between that have a common [(ﬁlh O between
them. them.
General Term: General Term:

i ﬂﬂ:al‘f'd(n'l) o O(n;O!,(r)M

1. Are the following sequences arithmetic, geometric, or neither? If they are arithmetic, state the
value of d. If they are geometric, state r.

a) 6, 12,18, 24, ... O e G o=l

by 611,17, ... Neither

Q) 2,14, 98, 686, ... qjﬁ-UYY\’? in1e V=1

d) 160, 80, 40, 20, ... (?J\fo W\’e\'f \C ¥ %}\
e)  -40,-25,-10,5, .... QW NG 4=15
f)y  7,-21,63,-189, ... q’f’ LG (=-3

(explicit)

2. For the followi@éthnces, find a and d and state the formula for the general term.
Don’t forget to simplify!

o

a) -10,-4,2,8,14, ... b) 10, 8, 6, 4, ... c) 36, 31, 25, 21, ...

oo d=b 0,510 gl-- 03y d-5
(\ =-10tb{n-1) @,\'—\0'9\(114) 0. 3l _5(n-1)
ﬂ | O‘t’\: 10 ANt O\(\DB\U”SV\L{S

0= 10t =
fam;_|UkU lO\r\'\g\ 9\‘/)4’ LO\(\ZA\\”%HI




3 Use your formula from question"ié 1o find the values of t, and t,,.

-
0201'(5q

gxplicit
7
4,

_ p— ,
For the following geometric sequences, find a and r and state the formula for the general term.|
a)1,3,9,27, ...

b) 12, 6, 3, 1.5, ... A9,-31, ..

d=\ (=% (=3 (c'\é 01 =9 (;’é
| -| AN~
0, (&) 0,-ET 0aE

5. Use your formula from question 4c) to find the values of the t, and t,,
- |
0. 3
(= -508 x\0°
13 _
6.

Find the number of terms in the followin

@quences. Hint: you will need to find the
formula for t, first! O _
N

b)9,5,1, ..... - 251.

a =9\+5(Y1“) (An=(7l+f‘\’1(n")

Mﬂ:%*én-é Oin= -4t

C? 3n 0= 134N
-

299=-1+3 100 ’9\?’\—:/\?%
=7iron=n LU EN
mﬁm@m&imméum o Ll

cometricr=0.50rr="% e) arithmetic d =15 f) geometric r=-3 2a) a=-10; d=6;
t,=6n-16/1) a=10; d=-2; t,,=-2\yj c) a=36; d=-5; t,,:\-/srz-ﬂ 3.t,=6; %,=-59 4. a)a=1,r=3; t,,‘7(3)“" by a=12;r=
1

n-1
l ity = 12[5-] @ B 9; =9(-3)"" ®‘ =-243 t,=-177147 6.3a)t,=3n-1; n Ty@ b) t, = -4n+13; n=y
2 '/ .



Math 2H Unit S Tes+ & Review Key
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